
Students entering Grade 8.
A d d  I n t e g e r s D o  a l l  w o r k  o n  y e l l o w  m a t h  p a p e r ,

w r i t e  y o u r  a n s w e r s  i n  t h e  s p a c e s
o n  e a c h  s h e e t

Add with like signs: -1 + -3.
? Add the absolute value of the addends.

1-1l + 1-31 = 1 + 3 = 4
? Use the sign of the addends for the sum.

-1 + -3 = -4

Add with unlike signs: -6 + +3.

? Subtract the absolute values.
1-61 - 1+31 = 6 - 3 = 3

? Use the sign of the addend with the
? greater absolute value for the sum.

-6 + +3 = -3

Add.

1 .  + 6  +  + 6  =

4 .  - 1  +  - 1  =

7 .  - 2 0  +  - 4 2  =

1 0 .  - 5  +  + 7  =

1 3 .  + 1  +  - 1 1  =

1 6 .  - 4  +  + 6  =

Subt rac t  In tegers

2 .  + 3  +  + 5  =

5 .  - 3  +  - 6  =

8 .  + 1 7  +  + 5  =

1 1 .  - 4  +  + 3  =

1 4 .  - 8  +  + 4  =

17.  -15 + +16 = .

3.  -4 + -5 = _

6 .  + 9  +  + 9  =  -

9. +11 + +12 =

1 2 .  + 5  +  - 5  =

15. +13 + -6 = _

18. -23 + +7 = -

Subtract: -6 - +7.

? Find the opposite of the subtrahend.
? Rewrite as an addition sentence. Then add.

Subtracting an integer is the same as
adding the opposite of that integer.

- 6  -  + 7  =  n

+  6  +  - 7 = - 1 3

n  =  1 3

Subtract.

1.  +10 -  +5 =

4 .  +7  -  - 8  =

7 .  +12  -  -16  =

1 0 .  - 5  -  - 1 0  =

13 .  +7  -  -17  =  -

16 .  +5  -  -8  =

19. +17 -  +15 =

2 .  - 4  -  - 4  =

5.  +7 -  +10 =

8 .  -13  -  +11  =

1 1 .  - 6  -  - 8  =

14.  +4 -  +9 =

17 .  -9  -  -16  =

20.  -6  -  +56 =

3 .  - 9  -  - 1 5  =  _

6 .  - 1 0  -  - 1 2  =  -

9 .  - 5  -  -  4  =  -

1 2 .  + 6  -  + 4  =  -

1 5 .  - 8  -  - 7  =  _

1 8 .  + 1 0  -  - 1 0  =  -

2 1 .  - 1  -  - 5  =  -



Multiply Integers

The product of two integers
is positive if they have like

signs.
+4 x +2 = +8
- 4  x  - 2  =  + 8

Find the product .

1 .  - 5  x  + 3

5. -5 x +5

9 .  - 8  x  - 3

13 .  -16  x  +9

1 7 .  + 1 1  x  - 1 2  ?

D i v i d e  I n t e g e r s

2 .  - 6  x  0

6 .  +3  x  +3

10.  +9 x +3

14. +12 x -18

1 8 .  - 3 6  ×  0

The product of two integers The product of two integers
is negative if they have is zero if one or both is
unlike signs. zero.

-4 x  +2 = -8
+4×  -2  =  -8

0  x  - 4  =  0

0  x  + 4  =  0
0  ×  0  =  0

3. +11 x -3

7 .  - 5  ×  5

1 1 .  - 3  x  + 5

15.  +5  x  +24

19. -12 x -12

4. -8 × -5

8. 0 x +2

12.+10 x +3

16. -13 x -14

20. 0 x +48

The quotient of two integers
is positive if the integers
have like signs.

+18 ÷ +9 = +2
- 1 8  ÷  - 9  =  + 2

Find each quotient.

1.  +24 ÷ -8

5 . - 4 8  ÷  + 6

- 1 6
9 . - 4

-64
1 3 . + 8

2 . - 2 0  ÷  - 2

6 .  0  ÷  - 1

+ 72
10. - 9

-54
1 4 . - 9

The quotient of two integers
is negative if the integers
have unlike signs.

- 14  ÷  +2  =  - 7
+14  ÷  -2  =  -7

3 . +36 ÷ -9

7.  +10 ÷ -2

1 1 .

1 5 .

The quotient of two integers
is zero if the dividend is
zero.

0  ÷  +8  =  0
0  ÷  - 8  =  0
0 ÷ 0 is impossible.

4 .  - 3 2  ÷  - 4

8 .  +99  ÷  0

-50
- 1 2 . - 5

-85
-16 .  +5



Adding and Subtracting Mixed Numbers Fractions, Decimals, and Percents.

Find each sum or difference. Reduce to lowest terms.

Example:

1 7 + 2 34 =

1. 54+63

3+4-4+4 - 2-47

2. 4722 - 33

C o m p l e t e  t h e  t a b l e .

Fract ion Decimal Percent

1 .

0.17

3. 63%

3 .  + 7 3 4. -4 - 24 4. 0.53

5. 3?- 2 6. 37 - (3})

5 .

6 .

2 0

8 0 %

1 . 2 5

7. 43 - 13 8. 7 + 1? 8.
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r r o p o r t i o n s

io lve for  x .

Proport ions are equivalent rat ios,  or f ract ions. Cross mult ip ly
to  so l ve .

Example:

3 -20

1 .
1
2

x =

3 .
6
9

=
1 6

=
4

x

1 0

1 8 = 2 7

x =

1 0 0
7 .

9 0
= 4 5

x  =

8
9 .

12
27

x =
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3

4

3 ?  20  =  4  ?  x
60  =  4x

1 5  =  x

2 .
4

5
=

X

6 5

x =

8

4. ?12= 15

x  =

6 .
1 2

=
6 0

1 0

8 .
8

=
1 5 4 5

=

1 0 .
4

=
9

4 0

s o i v i n g  m e y u a n u e s  u s i n y
M u l t i p l i c a t i o n  a n d  D i v i s i o n

Solve each inequality.

Examples:

When multiplying or dividing by a negative number,
remember to reverse the inequality symbol.

- 4 x  <  2 0

- 4 x 2 0
-4 -4

x  >  - 5

5 m  >  - 3

5 m

m >

- 3

5
-3

5

1. 6x ? -24 2. -4m < 32

3. -5y ? -25

5. * < 1

4. 20p > -400

6. -3y 2 ?

7 .  9 x  ?  - 6 . 3 8 .  2 7  <  - 1 0 n  +  n
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S o l v i n g  I w o - s t e p  E q u a t i o n s

Solve each equation.

Example:

1. 7y - 13 = 50

y  =

3. 3p - 6 = 9

=

4
5 .  m  + ? =  - 46

m  =

7. 49 = 7(y - 7)

6x  +  36  =  144
6 x  +  3 6  -  3 6  =  1 4 4  -  3 6

6 x 1 0 8
=

6 6
x  =  1 8

2. 5x + 43 = 68

x  =

4. 0.8c + 3.4 = 7.2

C  =

6. 8 + 10 = 13

X  =

8. 3p + 5 = -37

p  =

Solving Multi-Step Equations

Solve each equation.

1.  19x -  13x =  12

x  =

3 . a  +
8

4
=  2 0

a  =

5. 74 + 2 - 5y + 6

y =  .

7. 7y - 4 = 5y + 14

2. 15y = 3(y + 8)

y  =

4. 7p + 8 = 3p - 12

p  =

6.  3(x  + 4)  + 6x = 66

X =

8.  12m -  6  + 4(3m) = 90

y  =
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m  =



Polynomials

Simplify.

Example:

( 2 )

Multiply.

Example:

Multiplying Monomials

4a b3 + 3ab - 2a b3 - 5ab

= (4 - 2)a b3 + (3 - 5)ab2

= 2a b3 - 2ab2

1. 6c(5c + 3)

3x(4x + 5) = (3x)(4x) + (3x)(5)

= 12x + 15x

2. 4m (-3m' + 2)
1. 2y - 5y -32 - 8y3

2. 8n3 - n - n3 -8

3. b? + 5? - 4

4. 4c* - 2c + 2c + Ô

5. 7x + 6x? - 2x - 3x?

6. -9? b + 3ab - b? b2 - 5ab

7. 3x? + 4xy - 10x? + xy

8. 3m n - m + m - 2- 2m n

9. 4xy + xy - 4xy - xy + 3x y

3. -5x*(-3x + 1) 4. -m (6ml + n)

5. 2y(4? + 5y - 2) 6. -4a(-3a + 2a - 5)

7. 3x (x* - 2x3 -x) 8. -2 n' (n* + 2n - n - n)

9. 3? (-? b + b - bab) 10. 5x(y* - x? + 5x)

A  P a r a n  M a l l a e a


